£ Uik =W1+2+12

| (BopAy
L 2
- [ o ]
t | s 1
LERR
100 W1+W2+56 100
25F W1 j% W2 j 25
E | SQEHHEHEEH % ?.{E
YKK APSEE Y KL (B3 L)
H H HH PV EPEWILE k]
= [ A (A
P
B ] ®| |BEERHE ESi0Ba
L A i HH BELELRIBRITR
— K H HHHHHH - |
SE H FEHAAT 3
G S I
',:\Q U
“&
o}
- O:&EHY 7
WK oEEy K >,
=i fm:.
___ Wi, W2 (FEdg) [mm] b : @
HEEE) [mm] 800 900 1000 1100 N L b |
B o
1400 0 ©) 0 0 l—;
1600 0 ©) 0 0
o >
N >
S 1) 4=l [m] - -
HESS) m] | Y RLBLm]|  A#BSE BEAHR BERH A X-K (3%) BIEHHME-E -
T JVENVSX | T—JLHNL - HNS - HNB - HNT BT ER (RHIAA : 100rk) IEHH HE \ FEME |
1400 - - 520 M [ him) bmm] d[m] @ P FII=vLAE BHPBERLEERORE @
1600 100% 450 350 360 Q FEAk | 7AIZVLEE REMBERILEEESHE @
ZTERS HiEE " IF4% I$‘ B |8 %]|f R/E 2L & Y“K
® I EW§iéﬁ%ﬂl@iﬂﬁﬁﬁ#wﬁ%’#ﬁjﬁ% 177\7‘-475[’3_ F3 A B BLEE ap
i I ey Y e e ® A1




